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BAR GRAPH, HISTOGRAM AND FREQUENCY 

POLYGYON 

CHAPTER 17 

EXERCISE17A 

 

Answer 1: 
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Answer 2 

 

  

 

Answer 3: 
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Answer 4

: 

 

Answer 5: 
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Answer 6: 
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Answer: 7 

 

 

Answer 8: 

 

Answer 9: 
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Answer10 

 

 

Answer 11: 
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Answer 12: 

(i) The bar graph shows the marks obtained by a student in various subjects in an examination. 

 

(ii) The student scores very good in mathematics, as the height of the corresponding bar is the 

highest. 

 

(iii) The student scores bad in Hindi, as the height of the corresponding bar is the lowest. 

 

(iv) Average marks = (60 + 35 + 75 + 50 + 60) ÷ 5= 56 
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